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QUESTION 1

A server has five hot pluggable SCSI disk drives in a RAID 5 array. The server OS crashed and the server will not boot.
The administrator noticed that all of the disk drives have gone offline. Which of the following components would MOST
likely have caused the problem? 

A. Memory 

B. SCSI backplane 

C. SCSI drives 

D. Motherboard 

Correct Answer: B 

 

QUESTION 2

A technician would like to upgrade the processor in a server. In order to upgrade the processor, the technician needs to
know which of the following? (Select TWO). 

A. Memory type 

B. Socket type 

C. Brand type 

D. Available expansion slots 

E. Power supply voltage 

Correct Answer: BC 

 

QUESTION 3

A disk drive failed in a RAID 5 array. After replacing the disk drive, users are still reporting that access to the server is
very slow. Which of the following BEST explains the problem? 

A. The array is rebuilding. 

B. The array must be reconfigured. 

C. The array is corrupt. 

D. The disk drive is not compatible. 

Correct Answer: A 

 

QUESTION 4
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A server administrator builds a disk array with data striping. Several months later, a disk fails and the server crashes.
Which of the following is the problem? 

A. Data striping provides no fault tolerance. 

B. The block sizes were set incorrectly. 

C. The parity disk failed. 

D. The drive head broke off causing a cascade failure. 

Correct Answer: A 

 

QUESTION 5

A technician has been tasked with mapping a network drive to all the users in the company. Which of the following
should the technician do to BEST accomplish this task? 

A. Create a logon script 

B. Enable SNMP 

C. Manually map the drive 

D. Create a home drive 

Correct Answer: A 
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